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Question: 1 
   
The drive test scenario judges the success of the handover, usually based on the signaling. On the 
terminal side, which of the following signaling starts the handover process? 
 
A. Measurement Control 
B. Measurement Report 
C. Handover Request 
D. Handover Command 
 

Answer: B     
 

Question: 2 
   
In the process of LTE network optimization, which of the following data sources are used for problem 
location analysis? (multiple choice) 
 
A. Project Files 
B. Traffic statistics and alarm data 
C. useUser complaint record 
D. Signaling data 
E. netNetwork test data 
 

Answer: BCDE     
 

Question: 3 
   
Before coverage analysis, it is necessary to obtain basic data such as the planning plan, site distribution, 
base station configuration, antenna feeder configuration, RS power and service load characteristics of 
the optimized target area. Then obtain the information of the existing network data, conduct a 
comparative analysis, and find out 
the areas where the coverage problem may exist. 
 
A. True 
B. False 
 

Answer: A     
 



Question: 4 
   
Regarding TA planning, which of the following statements is incorrect? 
 
A. LTE of TAPlanning should be consistent with 2G/3G of LAPlan to be consistent 
B. Currently LTE of TALCan contain at most 16PieceTA 
C. LTE of TANumber of cells in Should be better than the corresponding2G/3G LASmall number of 
medium cells 
D. Each A single-operator cell can belong to multipleTA 
 

Answer: D     
 

Question: 5 
   
Which of the following carrier bandwidths does LTE support? (multiple choice) 
 
A. 40M 
B. 5M 
C. 15M 
D. 20M 
 

Answer: BCD     
 


